(X‘J) = XLL{W(XJ)
%Tx (X'3)= 2(:&,(!(1) LXZM (XJ)

B ﬁ (x,ﬂ= xsm(kdd

#’ 2)(16(3,(:(&,) + Xtewﬁ(g) - )"} M)o(ka)
f (g) = 3 emlig] = Cpasnly
ng :{7"




() < L 21 lettgl- 4 log)

gl <t S [ fimg 204 ot oy

£, (4,
fis L |2 g [ 4t o) iz




f/k(;dal ;«(’qg 4 %, [x, 7'*"

6‘}‘”‘

d (})_,__,—_gg;»/ bligy)- £ g’"

4¢(04)

| Jﬁé"‘» J; T 2‘[/"4 o
tlug.b): b(ﬂx«&”‘) f(“*a') del
-L"[tglxqf‘{b} Aql)
. 4 gy i,
{("'J i‘x'yl 4 ll) - 1* )44'1-)-




= g1 dr )

2 M) FRR )

__—. / sl(° | , '
{" (et = ¢ 12, (xodel) e [







ﬂkr&}},, /{7 ()(1{‘&‘( f#“*’[xﬂmukw))
H:c QOF L:g 7"".(4‘\/’(H°“{&.¢)f

J Y Jﬁz‘fu (x,,...,y.)+
\XH - (;1 T Lo (\;(._,,(w}




	Stránka 1
	Stránka 2
	Stránka 3
	Stránka 4
	Stránka 5
	Stránka 6

